Numbers to 10 000

1. Fill in the missing numbers:

. 00 00
©® 00 000

2000+ 40+ 5=
o)

@.
@ 00

1000+ 300+ 7 =_

9@ © O
©® © O

4000 + 200 + 50 =

2. Write the numbers:
a) Three thousand, six hundred and fifty-seven =

b) Six thousand, nine hundred one =

3. Write the numbers in words:

a) 2,516

b) 5,038
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4. What does the digit 5 stand for in each of the following ?

a) b, 213

b) 1, 253

c):8. 521

5. Fill in the blanks :

a) In 2,439, the digit is in The ones place.

b) In 6,305 the digit 3 has a value of

6.Use'>"or '«

a)7,031is 7,301
b) 3,756 is 3,576

7. Arrange the numbers in order, begin with the greatest.

3,412 4,123

8. Complete the number pattern.

a) 3,098 , 3,198 # 3,398 ; 3,498
b)'5. 722 5,712 ; 5,702 ;
¢}y 4,590, 3,350 ; .2 1,350
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